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ECONOMICS
( Major )
Paper : 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
=TS Al epTyRd Sed o :

(a) Define economic planning.

SRS “ifResa e f |
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(b)

(©

(@)

(e)

(g)
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(2)

Which plan accepted the strategy of
‘inclusive growth’ for the first time?

@ RIS AWERY q0E RS SEEe’
CEMIET 212 4T (2% 2

What was the targeted growth rate of
India’s Twelfth Five-Year Plan?

SRS ey FAARST RS CHEE 2R
T SR 4 < Cafe 2

What do you mean by globalization?

AR I 5 @2 -
What is the full form of OECD? .
OECD 3 35 o1 5 2

What is meant by dependency burden?

What is the literacy rate of Assam as
per 2011 Census? .

2011 >R CTRRe e opme AFIoN W
{1 2 '
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(3)

2. Answer the following questions : 2x4=8
oo fral ePPTgRd T fordt :

fa) Mention two important causes of low

death rate in Assam.

TR 7 97 RS 01 &4 PR SCEY 491 |

(b) What is decentralized planning?

Reeaige ARes 2

(c) State the meaning of shifting
cultivation.

g IR FfeT e e |

(d) Mention any two needs of economic

planning in India.

SRee wAfes ARTEAE O ACHEARel
TCEY 4 1
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3. Answer any three of the following questions :

5x3=15
o fral eRrTRd R e foffibr s o -
(a) Explain the basic objectives of economic
planning.
AASF ARTEAN o THPTR T 1 |

(b) Distinguish between Foreign Direct
Investment and Foreign Institutional

Investment.

ﬁwmﬁ@ﬁﬁmﬂwmmﬁﬁ
Rffcsm onefss for |

(c) Briefly discuss the composition of

foreign trade in India.

SRS (AP A S TR vy
SCEATOT 354 |

(d) Discuss the impacts of globalization in

Indian economy.

S HAifes  (AERPIR ASTPTZ
S{TCETIE= 4 |
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(S)

fe) Give a comparative picture of the trend
of the growth rate of GDP in India and
Northeastern States.

ey WF TeT-o{iweq AP JP T

AT THAAE T YRR 96 peeere =
I & |

() Write the disadvantages of shifting

cultivation.

e R SRR o |

4. Answer the following questions : 10x3=30
oo frdl ospTEd Ted feidl

(a) Give an idea of the change in the
strategies and goals of Five-Year Plans
in the post-Liberalization period in
India. 10

THAFIT TS TS ST F AP
AReEAE (FE T TR ARSI @S g=en
o |

Or / |11

Do you think that India’s Five-Year
Plans are able to achieve the targets?
Give reasons for your answer. 10
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(b)

(c)
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(6)

SR AT ARFEaryR Mdiie e
Teffre 27 Nz I PR S 2 (oR Ted]
FCE SR T |

Discuss the trend of India’s foreign
trade before and after Liberalization.

THRIFIR o S ~IES] T SRS e
e G199 EE Sen-l 3410 |

Or / J¥1
Mention the importance of Foreign

Direct Investment in India. Give an idea
of the growth of FDI inflows in India.

10

5+5=10

SRS fers Qe RfFER 89 SEY
1| SN JOrF G RIS 2[EE
I aft g=en fam |

In what respect the economic
characteristics of North-East region is
different than that of the Indian
economy? Discuss.

Teg-ofleey S (FiEPRR & fRame
SRS HYAfGS(F JF 7 S 4 |

10
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(7))

Or / |41

Analyze the factors affecting industrial
development of North-East India.
Suggest the measures for the progress
of industrialization in the region. 6+4=10

Teg-odived ST THES #eR (Il
TomPigR. ReT 911 @ SRR Souie
A AT SR SRCET |
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